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B [(a,0)], [(c,d)] i LT, HE # %
[(a,0)] # [(c, d)] = [(a+ ¢, b+ d)]
WK DERT S EE, A # IIRFEITOMY FITEKAETIC) FCERETE TSI L&Y, 22T, 0l
B+ BHABOESGICE T 2IMETH 5.
(88) [(a1,01)] = [(a2,b2)], [(c1,d1)] = [(c2,d2)] £ 2L, FEEHDOWELD (a1,b1) ~ (ag,b2), (c1,d1) ~
(c2,d2) THY, SoICFMERR ~ ITEZRXD
a1 + by = by + as, c1+do=dy+co
L%, AHARANE SRR X D
(a1 +c1) + (ba + da) = (a1 + b2) + (c1 + d2) = (by + az) + (d1 + c2) = (b1 + dy1) + (a2 + c2)

ThD, FMEER ~ DEZRLD (a1 +c1,b1 +d1) ~ (ag + c2,ba +do) DL ZD, LIchi>T,

[(a1,01)] # [(c1, d1)] = [(a1 + c1, b1 + d1)] = [(a2 + c2, b2 + d2)] = [(az, b2)] # [(c2, d2)]

LD, REILOHY HITHKAETIC) FERI TS, =



